1.

VITT % ] o] A7} 5|25 she 7h e

D 4

@ 8

® 10

@ 12

A x =2

® 19



2.

VIO =¥ ] gtol 4Q%7t 5 S s 7}

ol

@1 @ 4 ® 7 @ 10 ® 15



3.

VI2x VI8 X V75 = a2 4 W, a 9] 27

O 12 @ 15 ® 30 @ 90

® 120



4, VB Ais \/gznm% o, n o] @S Fstolet

Hin=



5. 5VZ- V- — el =
V75 \/5+\/12:a\/§+b\/§°‘ frels

_ 2, {2 a, b o] B2

Tshoiet. o

bl ea=

Be:r=



—

= A3 2

27

3+

12 - 3V48 -

6.



R EEEREEEDE
sfofet.




8.

2+ V3 9 &4 BE2?

@ V3-5 @ V3-4
@ V3-2 ® V3-1

® V3-3






10. o= 27| & Alude v 7 As B A2d?

(1]
H7

—_

@ 36 ] 2 AFE - -6
© 5 AFE - +V5
© (-3)2 JAHFL -3

® V16 o] AlHEL — +4

0 006 006 ®o0e 06,6




11.

(- V)2 © AlEEL?

@ V5 @ -+h

® V5

@ 5



@ 3 @ 7 ® 9

@1



13. o= {7 &AdE A9 geizt

VA9 9| o] Az [ Jolm, (-5)2 o <o Agae[ ]




14. a b, o ol Tha7t o] 5

a— AF 36
b — 3 9] &l AlF

c > /(-3)2 9] S AlFT

® -18 ® 18

@ 18V3 ® 108

® -18V3

FolA u, ax b xc 9 F HIEA 75
AL




15.

(4% & F] A
are Fotofet.

Ehab =

31719
HiL =

a, V81 9] SO AlFTS b et



(—2b)2 &



17. (-5 J Fo) AFTEa, V81 o S AFTE b, AFT4E ¢
2t & o, a+ b - c 9 g2 F3tolgt

a'é*:a—l-b—c:



18. o5&

®© © ©

SO AFE F 2R

1009 Al&F = +10
—-49] AlFLLS gl
1 \/T
Ol Al FE = £4/ =
2—’] ﬂ\:} + 5

o o
oFe AL

@ 7T AFE=+VT7

@ 0.29] AF = +0.04



1 _
19. AlEd (-4)2 EA, 1 o) 9 AlEd< Bt € o, AB 9 g7

1 1
® 3 @ -3 @1 @ -1 ® -2



20.

—2<x<5 A5 xof thate] \/(x+2)2 + 1/(x-5)2 &
st

5
=%



21, \/(2- VB2 + /(2 + V5)2 2] A& Tl sl

@ V5 @ 0 ® 245
@ 4 ® 2vV5+4



22, a9 F ANt 2<a<2¥ W, /(a-2)2- /(a+2)? 9
ZFets] shH?

Do @ -2a-4 ® -4
@ —2a ® 2a



23. 3<x<4d W, /B-xZ- /(x-42

@ 2x-1 @ 2x-3

@ 2x-7 ® 2x-9



24, x>19d, /(x-1)2- /(1-x)?2 9 & st

D L
=%



25, x>298 W, 2 F /(x-2)2- /(2-x)% 9 327

© -2 @ -1 ® 0 @ 1



26.

V33 x5x7xx 7} 7V 2k
2},

D R
=%

o

.

2571 517 9

SF

Arx @ T



27.

H7]
@ -V3>-12 © —2v2>-+v12

© VIl>2V3

ORQ) @ ® ®0,0 ®06 0006



28. o35 22 A2?
O Vi+ V9= 13 @ 0 9] AlFZL 2 7ol
® V255 @ n-3.14 = 5ol

® V35— VI6 = VI



¢
4

O . Heg

-

o
it



el A] V3 = 17329 W, o]F o] &ste] V2T o g vk

Al
® 34.64

:TL

roL oH

30.
@ 17.32

rlo
(N

A
D 1.732 @ 3.464 ® 5.196



31. A= BI-/(372-(-2)". B
o @& Fatolet

5 L
=%



32.

a>0 4, o ALl A &4 g2

1o

A

tlo

5

fiid

@ -V12la® - \/(-7a)? = —4a

O V2542 + /(-6a)? = -a
© - /a7 x VB _ o0

a2

® 9Va2 + /(-6a)2 - Va® = 14a




33. o= A TEste x 9 @ FollM ot oid

AL 12H?
Vi o1 21
= T 2x =4 -
) 3 % @ Vax ©) = =2



)
<

of
Nfo

op

& o

@ -+3.61

® Vo o AF

@ V3-3

mA

1+ V6




35.

oo

2
6

Tlo

A7

=
K

D BE S8 g ReasE Resoltt,
@ BE AR5 ABLE Feldolt

® 19 AFLE 1 AApolct,

@ BE % q o oto] Va? = a oIt

® 1+ V2 & P47} ohiek,



g3 22 427(H a>0,b>0)

@ -+0.121 = -0.11
1
? 2
100
® (-1)? 9 AFLL -1 o]
@ a>0o0mm VD o

® A=—(va).B= \/(=b)% o|®, Ax B = ab °|t}.

=0.3

:

S



